

# Musterlösung

1. Aufgabe:  $e^A e^B = e^{A+B + \frac{1}{2}[A, B]}$  falls  $[A, B] \in \mathbb{C}$

$\Rightarrow e^B e^A = e^A e^B e^{-[A, B]}$

$\varphi(x) = \varphi_+(x) + \varphi_-(x)$

Vernichteter Erzeugnis

$\varphi_+(x)|0\rangle = 0$

$\langle 0|\varphi_-(x) = 0$

Diskretisierung der Zeit:  $f^k \equiv \int_{t=t_k} d^3x f(x)$

$T e^{i \int d^3x j(x) \varphi(x)} \leftarrow T e^{i \sum_k \int d^3x j(x) [\varphi_+^k + \varphi_-^k]}$

$T e^{i \sum_k \int d^3x j(x) [\varphi_+^k + \varphi_-^k]} = \prod_{t_{k+1} > t_k} e^{i \int d^3x j(x) [\varphi_+^k + \varphi_-^k]} = \prod_{t_{k+1} > t_k} e^{i \int d^3x j(x) \varphi_-^k} e^{i \int d^3x j(x) \varphi_+^k} (*)$

da  $[\varphi_+(x), \varphi_-(y)]_{x^0=y^0} = 0 \Rightarrow [\varphi_+^k, \varphi_-^k] = 0$

$(*) = \prod_k e^{i \int d^3x j(x) \varphi_-^k} \prod_k e^{i \int d^3x j(x) \varphi_+^k} \prod_{t_{k+1} > t_k} e^{-i \int d^3x d^3y j(x) \varphi_-(x) \varphi_+(y)}$

$\Rightarrow : e^{i \int d^3x j(x) \varphi(x)} : = e^{-\int d^3x d^3y j(x) \varphi_-(x) \varphi_+(y)} [\varphi_+(x), \varphi_-(y)]$

$i \Delta_T(x) = \langle 0 | T \{ \varphi(x) \varphi(0) \} | 0 \rangle = \langle 0 | \{ \Theta(x^0) \varphi_+(x) \varphi_-(0) + \Theta(-x^0) \varphi_+(0) \varphi_-(x) \} | 0 \rangle$

$= \Theta(x^0) \langle 0 | \varphi_+(x) \varphi_-(0) | 0 \rangle + \Theta(-x^0) \langle 0 | \varphi_+(0) \varphi_-(x) | 0 \rangle$

$\Rightarrow \int d^3x \langle 0 | T \{ \varphi(x), \varphi(0) \} | 0 \rangle = 2 \int d^3x \Theta(x^0) \langle 0 | [\varphi_+(x), \varphi_-(0)] | 0 \rangle = 2 \int d^3x \Theta(x^0) [\varphi_+(x), \varphi_-(0)]$

$\Rightarrow \omega_0(j) = \langle 0 | T e^{i \int d^3x j(x) \varphi(x)} | 0 \rangle = e^{-\frac{i}{2} \int d^3x d^3y j(x) \Delta_T(x-y) j(y)}$

2. Aufgabe:

$$\eta = h \xi$$

$$f(\eta) = \dots + f_1 \eta_1 \dots \eta_n$$

$$\eta_1 \dots \eta_n = \prod_{i=1}^n \left( \sum_{j=1}^n h_{ij} \xi_j \right) = h_{1j_1} \dots h_{nj_n} \underbrace{\xi_{j_1} \dots \xi_{j_n}}_{= \varepsilon_{i_1 \dots i_n} \xi_1 \dots \xi_n}$$

$$= \varepsilon_{j_1 \dots j_n} h_{1j_1} \dots h_{nj_n} \xi_1 \dots \xi_n = (\det h) \xi_1 \dots \xi_n$$

$$\Rightarrow d\eta_1 \dots d\eta_n = \det h^{-1} d\xi_1 \dots d\xi_n$$

$$\xi = Q \eta \Rightarrow \eta = Q^{-1} \xi \Rightarrow \mathcal{D}\eta = \det Q \mathcal{D}\xi$$

$$\int \mathcal{D}\eta \mathcal{D}\eta e^{-\eta Q \eta} = \det Q \int \mathcal{D}\eta \mathcal{D}\xi e^{-\eta \xi}$$

$$\Rightarrow \frac{\int \mathcal{D}\eta \mathcal{D}\eta e^{-\eta Q \eta}}{\int \mathcal{D}\eta \mathcal{D}\eta e^{-\eta \eta}} = \det Q$$

$$e^{-\eta \xi} = \sum_{i=1}^{\infty} \frac{(-\eta_i \xi_i)^i}{i!} = \sum_{i=1}^{\infty} \frac{(-1)^i}{i!} \sum_{k_1 + \dots + k_n = i} (\eta_1 \xi_1)^{k_1} \dots (\eta_n \xi_n)^{k_n} \frac{i!}{k_1! \dots k_n!}$$

$$= (-1)^n (\eta_1 \xi_1) \dots (\eta_n \xi_n)$$

$$\eta_i \xi_j = -Q_{ik}^{-1} \xi_k \xi_j$$

$$\Rightarrow \eta_i \xi_j e^{-\eta Q \eta} = -Q_{ik}^{-1} \xi_k \xi_j (-1)^{n-1} (\eta_1 \xi_1) \dots (\eta_{j-1} \xi_{j-1}) (\eta_{j+1} \xi_{j+1}) \dots (\eta_n \xi_n)$$

$$= Q_{ij}^{-1} (-1)^n (\eta_1 \xi_1) \dots (\eta_n \xi_n) = Q_{ij}^{-1} e^{-\eta \xi}$$

$$\Rightarrow \frac{\int \mathcal{D}\eta \mathcal{D}\eta \eta_i \xi_j e^{-\eta Q \eta}}{\int \mathcal{D}\eta \mathcal{D}\eta e^{-\eta \eta}} = Q_{ij}^{-1} \det Q$$